FFo B ARE IR AR B PATRE S BRI T1E_ 336 375 BB 3 16

JRE MR & R
TR B R 2R

B Bl 25 & 3 B am Hi A H | TCLP #as% |[TCLP 4848 | TCLP #24%|TCLP #424% |TCLP k4% | TCLP 447 | TCLP 4%

- IR (%) (%) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L)
JEE(13548) 111.10.06 0.82 0.02 ND 0.626  |<0.03000.0212)|  0.253 0.04 1.02 ND
AEFEREMREEE - - 5 100 1 5 2.5 15 0.2

B 5a) 2 41 & 1l B 27 TCLP #a 4. pH TCLP #azm|TCLP #a4%| Ak&E T —fibry | Z A Ib—43 | =A%

o - ’ (mg/L) (mg/L) (mg/L) (%) (%) (%) (%) (%)
JE & (13550 111.10.06 [<0.050(0.0169)|12.33(25.0°C) ND 0.744 7.19 8.51 18.9 1.03 5.41
EEFLREMRERE 5 - 1 - 5 - - 3 -

% 25 4 % 8] B 4 A AL45 4R Y F Ha g 4a 4R Ha gk 4 g 448 4943

) - . (%) (mg/kg) | (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg)
Je ok (13548) 111.10.06 3.29 0.217 <20.0 1470 3710 283 3360 223 6.67
TS
g | TR s aan| wmes
B A B B8 8 HE (g1
. :
(mg/kg) | (kg/m) | 1r0/e (%)

JEE (13505 111.10.06 ND 1772 0.004 0.3
FEFEREMRETZE - - 1 -




BEARRRERBERICRERPATERE ST B R /367 35 3R 1

A B R E & R A B & R

"R LB A R A A B SR

— T fm Bt # |TCLP #4#h | TCLP #4248 |TCLP #24% | TCLP #44% |TCLP_»{&4 | TCLP #a4m [ TCLP 45
(%) (%) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L)
e (15E58) 111.10.06 12.6 0.65 |<0.100(0.0369) 1.13 ND 3.78 3.76 ND <0.0020(0.0006)
RE 4 man(13E08) | 111.10.06 33.7 425 ND 0.531 7.13 0.054 <0.05 9.74 0.0333
FEZEBREMHAIRE - i 5 100 1 5 2.5 15 0.2
[ [ TCLP #a4 pH TCLP %k |TCLP #44%| 4k % Bxw | —84bw |8 b—48| ==
(mg/L) (mg/L) (mg/L) (%) (%) (%) (%) (%)
A (13E05) 111.10.06 ND 11.56(25.0°C)| <0.100(0.0738)[  <0.050 0.01 3.39 0.97 1.24 0.60
ROE A s (13E0E) | 111.10.06 3.98  [9.8225.0°C)|<0.100(0.0386) 122 0.43 2.07 2.72 0.08 0.10
AEFLEREMREEE 5 z 1 2 < Z 3 - 5
& eany| NS | BE s ey 4 4t sy 44 147
(%) (mg/kg) | (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg)
e de (15835 111.10.06|  7.04 0.958 <20.0 419 733 439 6410 707 89.4
R S (15e4E)] 111.10.06 1.34 4.31 21.4 2470 828 63.8 16600 445 314
FRE | ﬁ’;ﬁ 0% Aok
BL R B3 B Al A & fg 1-
(mg/kg) | (kg/m?) TEO/g)
et (15E0E) 111.10.06 ND 1006 0.168
BEA S (1345)] 111.10.06 ND 616 0.533
FEFEBREYAERE - = 1




